HET 9 & e 201920

[7206-C]
MATHEMATICS
MR
(Hindi & English Versions) .
[Total No. of Questions: 26} [Total No. of Printed Pages: 16}
[Time: 03 Hours) | * [Maximum Marks: 100]
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Instructions :-
(1) All questions are compulsory.
(2) Solve the questions as per the instruction.
(3) Marks allotted to each question are mentioned against them.
(4) From question no.6 to question no.26 internal options are given.

(5) Graph paper Is required in this paper.
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g1 98 fawew gaax fafay - (5><1=5)

(i) FEIR x*-4x?+2 ¥ qEUQ P U @ —
@ 4 (b) 2
© 5 @ 1
(i) agqaxf-x+41‘-fx?mlilﬂn'$%——'
(@) 1 (b) 2
(© -1 @ 4
(ii) Wx-2y=4$[@iﬁ%—
@@ (0,3) b (2,2)
© 0 | '(dﬁ (0.' 4)

(iv) 3f¢ 2x-3=5, a x & 99 BF —

@ 2 b 3
€ 4 @ 5
) amaﬁf#rwmwﬁwmﬁmwﬁﬁmwmm_
@ - (B) -f; | |
© : @ 3
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Choose and write the correct option-
()  Degree of polynomial x* - 4x2 + 2 is -
(@ 4 (b) 2
(c) 5 d) |
(i) Coefficient of x in polynomial x2 - x + 4 is -
(@ 1 (b) 2
) -1 d) 4
(iif) One solution of equation x — 2y = 4 is -
(@ (3 () 2,2)
) 40 @ 09
(iv) If 2x -3 =35, then value of x is -
(a) 2 | (b) 3
(c) 4 d S

(v) When two coins are tossed together, then probability of finding at least

one head is-

@® ; ®) :

© 3 @
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N (2/-2)

W WRIFPdwie ... g (0. 0)/ (1. 1))

"as 1
i) 2 & AR 2l @/3)
) PEV+P(E)= ... - ©/1)
(v) 9% & =

EPAAT = G mr?h/nr?h)

Fill in the blanks from the given options -

(1)  Zero of polynomial x + 2 IS cviiiiinnn, ¥ (2/-2)
(ii) The coordinates of the originare ............... | ((0, 0y .(1, )
(iii) The value of 97 is............ 23
| )
(V) PE)+P(E)=.ocevrrn . o
o/ 1)
(V) Volume of cone is .............. . 1
: (; ‘rtrzh/m'zh)
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93 UF 9R/q@g § gox dfew — (5%1=5)
() Rod TheR § =) B o @ A 2
(i) 75 (3. ~2) fow gty ¥ Rerm 2
(ili) 2. 3 3R 4 P7 wrFR A™Y BT
(iv) SRS F1 aifdveas 7 g 2|
(v) 100 10 & THyd) 1 SIERYT g |
Write the answers in one word/ sentence -
(i) Highest power of variable in linear equation is..........
(ii) Point (3, -2) is situated in which quadrant?
(i11) Arithmetic meanof 2,3 and 4 .........
(iv) Maximum value of probability is ..........

(v) Give one example of monomial of degree 100.
g4 fr=falea § v/ o fafeg - (5X1=5)
@) 5 @ uRdg e ¥
(i) TS gl @@ U6 e et 2|
(iii) qof 3o AT A TSI BRI
(iv) @it oIl 10—16 ¥ 10 & B I= WA B |
(v) o P T &APA = 6a°
Write. true/ false in the following -
(i) V5 is a rational number.
(ii) Every whole number is an integer.
(ili) The whole is greatér than its part.
(iv) In the class interval 10 - 15 the upper limit of class is 10.
(v) Surface Area of a cube = 6a.
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U5 WEl Wifedl Iy —

= w
(i) -5+2 (a) 12.
e 2
(i) — (b) 3
(i) (-4)(-3) (c) -3.
(v) 0.1 Z
| | (d) p
1
(v) 3 (e) 0.02
1
() -
Match the columns -
_‘A’ ‘B’
() -5+2 @@ 12
(i) =
| (b)y 3
(iii) (-4)(-3) © -3
(iv) 0.1 2
q d) <
1 .
V) 3 (€) 0.02
1
69) P
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U6 isﬁz ; ® 99 2 gRdg dent s\ AR o @)
Find two rational numbers between %und g .
HUEr/OR
é ® T B W7o A
Rationalise the denominator of :}‘E :

97 g @4.3)F 49 3 IR F1 am fafag| 2)
Write abscissa and ordinate of point (4, 3).
JFqq1/OR
et et Rt favg ) Ry e e arel Afor e et el
@ Tl =n1=r &?
What is the name of horizontal and the vertical lines drawn to c_lletv;énnine the
position of any point in the Cartesian plane? |
ug 14,25, 14, 28, 18, 17, 14, 20, 14 &7 9gai® AT I | 2)
Find the mode c;f 14,25, 14,28, 18,17, 14,20, 14.
3eEr/ OR
10,7, 13,20 3R 15 &1 ARA TG BT

Find the mean of 10, 7, 13, 20 and 15. |
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. B, O 59 4w ) g & g () T B @

Area of a parallelogram is 90 sq. em. Its one side is 30 cm long. Find the

distance between this side to its opposite side (Altitude).

A /OR

Frefefem arpft ¥ @ a-d AR @ & GmR T T & WA
YRl & 4 Rua 87 R Rufy § Svafis amur e 3F1 FETRR YT
fefeg |

Which of the following figures lie on the same base and between the same

parallel lines? In such a case, write the common base and the two parallels.
E

A B A B
E
(i) (i)
9.10 9REM Fa #ifdre — :
'Find the perimeter — : (2J
| . S
|
1
1
1
4
91/ OR

£-+ fwmﬁmaﬂﬁm
Find the sum of 4§+ 41.

528 [7206"01 Page8ot1e = @

https://www.evidyarthi.in/



a p .
a O'Saﬁ&_%mﬁ'mmﬂ. el p aiRg yuife & a2l q# 0 €1 ®)

Express 0.8 in the form E-. where p and q are integers and q # 0.

I /OR
ﬁiﬁzﬁquﬁﬁm&ﬂwﬁﬁm

Rationalise the denomj !
nator of WL

912 WHIGT 2X+y =73 P q B forfv | (3)
Write any two solutions of equation 2x + y = 7.
oA/ OR
k BT A ST PG, Tafd x =2, y = | THIGRT 2143y =k BT T &0 |
Find the value of k, if x = 2, y = 1 is a solution of the equation 2x + 3y =k.
.13 a@%ﬁ,x,yaﬂ?za%mmaﬂmahﬁwavﬂm%wnw?l (3)

In figure, find the value of x, y and z, then show that AB | I CD.

45°
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o FTa BT |
ATl §, ZSPR = 135° 3R £PQT = 110° g a A:RAQP <0
In figure. ZSPR = 135° and ZPQT = 110°, then fin
N )

PAi13se

: 110°
< - -—>
T Q |
B14 U TG B BT 10:13:7:6 D Ui § ¥ gE wggS B wh Bor 0@
#IR | o (3)
The angles of quadrilateral are in the ratio 10:13:7:6. Find all the angles of

quadrilateral.

- $yar/0R
IR TS @ B @ o g
Write any three properties of a parallelogram.

In which quadrant the points (-3,4),(-4,-9), (1, 3), (5. - 6) lie?

T/ OR

fa7gstt (3,00, (-2,- 1) 3R (0.-5)as‘rm"cﬁuaaﬁr¢ﬁfaaﬁﬁm

Express the points (3. 0), (- 2, . I)and (0, - §) o the Cartesjan pl .
ane, .
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Vv oy -
g6 WER P URRIA 300 & B @) e e |
Icime ¢ —
Using compass construct the angle of 30°
Jyar/ OR

& AABC .
Bl T Bifore, R BC = 7 94, £B = 60° 3R AB + AC =
RE:L A

Construct a triangle ABC in which BC = 7 cm, £B = 60° and AB + AC =

[3cm.

.17 “ll@a;'a%mﬁﬁaﬂﬁﬁﬁqaamﬁéﬁmzuoﬁm@ﬁmﬁm
fRpar T | W il @ A A T e § fora fern € “
" fenfral @t @&
e &Y § 135
qHg A8l B & 65
mﬁmwaﬁmﬁau@m—ﬁwm-

(i) qifeaa uag &l ¢ |
(i) Tifterd) e e P B |

To know the opinion of the students about the subject Statistics, a survey of

200 students was conducted. The data is recorded in the following table-

[ Opinion Number of students
Tke | 135
Dislike 65
Find tWMﬂt chosen at random -

(i) likes Statistics

(ii) does not like Statistics
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Juqr/OR
U frdT A A o wRer qeare g @ T 30 AR F 6 AR e
TR R 1 M T AR T A s s A

In a cricket match 3 batswoman hits a boundary 6 times out of 30 balls she

Plays. Find the probability that she did not hit a boundary.
%18 TTI ABCD 4 AC=AD 2 3k AB @Y1 A P WHRWIRT P 2|

¥EY % A ABC=A ABD 2 @
In quadrilateral ABCD, AC = AD and AB bisects ZA. Show that
A ABC = A ABD.
C
A B
D
. S¥ar/OR
PRt 1 wahmmar ) 9 o saify forfa |

Write any four criteria for Congruence of Triangles

919 %Wﬁﬁwmhwmmwmg
|

Prove that equal chords of a circle subtend
€qual angles a (he |
€ centre,
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derar/ OR

43 A ZABC = 69° 3R LACB =31°%), @ £BDC d AT

Teure. ZABC = .
[n figure C =69° and ZACB = 31°, then find ZBDC.
D

g20 &d PIg — (4)

Solve -
(i) 3002 - 2149
) 1.25+0.35

1—_:3+ % T AFT A BN |
Find the sum of -+ 3 -

521 & DI — @
Solve -

(i) 165x23

(i) 1005+5
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922

.23

e/ OR
gyHeg W fafae -
Write in Decimal form-
1

(i) Too

j (5)

2+ Tx +3
Factorise -

2x*+7x +3
J9ar/OR

SUYA HAAABT BT YART XD (-2x + 3y + 22)? HT AR PRI |

Expand: (-2x + 3y + 2z)’ using suitable identity.

X + 2y = 6 BT g Hifw |
Draw the graph of x + 2y = 6.

()

Jar/ OR
U TR A o=l o7 v frefofeg & -

Uger fdanier &1 fammr 8 T 8 IR OB T B N & v ufy freintier
ﬂ%ﬂﬂ?ﬂ%lﬂﬁﬁﬁﬁﬂ%‘{ﬂxﬁﬂﬁﬂ@?@ﬁ%@y?ﬁ?ﬁ

mwmmﬁmmmmm| .

The taxi fare in a city is as follows -
For the first kilometre, the fare is ¥ 8 arid for the subsequent distance it is Z S

per km. Taking the distance covered as x km-and total fare as Ry, write a

linear equation for this information and draw its graph.
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R TRAI 32 3 3 ®)

Find the area of a triangle, two sides of which are 8 cm and 11 ¢m and the

perimeter is 32 ¢cm,

yuar/OR
1@ PHWER UE ABC @ 4y 120 9, 80 A aR so . | T H
B Fd DA |

A triangilar park ABC has sides 120 m, 80 m and 50 m. Find the area of this

park.
A
B : 120m
7.25 mgmﬁﬁﬁﬁamm@mﬁﬁaﬁm— (5)
3P 020 | 2040 | 40-60 | 60-80 | 80-100 | 100-120 i 120-140 | zgz:r {
Terenfelay 5 8 4 3 2 2 L 6 | 30 ';
o Tl | 3 '&
Draw a histogram representing the given data-
Marks 530 | 2040 | 4060 | 6080 | 80-100 | 100-120 | 120-140 | Total
No. of 5 8 4 3 2 2 6 0
Students |
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srar/ OR
U O 3 geara @ 10 Ael § Preafoed M fag -

2.3.4.5.0.1,3,3.4,3

¥ Ml B A, IS 3R qgerd @ P |

Following number of goals were scored by a team in 10 football matches -
2,3,4,50,1,3,3,4,3

Find méaﬁ, median and mode of these scores.

H26 ¥ wg A AR ok frfe S w21 IR AR 28 ¥ 2| gwa
AT T PIfTY |

®)
The height and the slant height of a cone are 21 cm and 28 cm respectively.
Find the volume of the cone.

J¥ar/OR
P 21 0. a1 0@ ant MY B forg s A —
() o g dawa
(i) B T dawe
Find-

(1) the curved surface area

(1) the total surface area of a hemisphere of radius 21 cm.
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